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OAHrIEZ / INSTRUCTIONS

H Siapkela Tou yparmtoU eival capavta EVTe AEMTA.
Test duration is forty five minutes.

Elval dikn oog euBuvn va eAéyéte otL to ENINEAO Sokiuiov oog eival To cwaoTo yla TNV nALKia oag.
It’s your responsibility to check that you received the correct paper LEVEL for your age.

To Sokipd amoteleital anod 21 epwTnoELG.
There are 21 questions in this paper.

BAOMOAOTIIA

Ep. 1-7: 3 BaBuol
Ep. 8-14: 4 BaBuot
Ep. 15-21: 5 BaBpoi

GRADING

Ques. 1-7: 3 points
Ques. 8-14: 4 points
Ques. 15-21: 5 points

OYAAO ANANTHIEQN

AKQLOUOTE VA XPNOLUOTIOLOETE OTUAG UIAE A LaUpo 1) oKoUpo LoAUBL.

OUA\O amAVTACEWY CUPTIANPWHEVA e oTtolodnmote GAAo xpwpo AKYPONONTAL.

Eav emuhéEete AaBog amavtnon, Tote BAeTe X KAl CUUITANPWVETE TN CWOTH.

ANSWER SHEET

You are allowed to use blue or black pen or dark pencil

Answer sheets completed with any other colour will be rejected.

If you want to change a chosen answer, mark with X on top and then mark your new choice.

Agv untapyel apvnTikn Babpoloyia yio AavBaouEVEC ATAVTHOELG.
No penalty for wrong answers.

Ytn tehevutala oeAida Bpioketat to AINAQMA SYMMETOXHZ, yU' auTtO CUOTAVETAL va TAPETE Lall o0¢ TO
Sokiplo.
On the last page of your paper there is a Certificate of Participation, so take this paper with you.

Katd tn Stdpkela tou Stoywviopol amayopeUetal n £€060¢ coc amno tnv aibouoa yla omolodnmote Adyo,
MEXPL VO TEAELWOETE.
You are not allowed to exit the room before you finish the test, for any reason.

To amoteAéopata Tou Staywviocpou Ba avaptnBoulv otnv LlotooeAida pag www.thalescyprus.com mepimou
10 pépeg petd tn Sie€aywyn Tou Slaywvicpou.

Results will be announced on our website www.thalescyprus.com in about 10 days after the competition is
completed.

G k!


http://www.thalescyprus.com/
http://www.thalescyprus.com/
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1. O POUTEPT EMPETE VO CUCKEUAOEL UTTAE KOLL KOKKLVA TTaLViSLo-Kaykoupo kat va BaAet 10 os
KaBe kouti. Eav eixe 178 mawyvidla evog xpwpatog kat 121 dAAou xpwuaTtog, moca KIBwTtla Ba
XPELaOTaV ylo va LNV avapifel ta SLadopeTIkA XpwHOTA,

Robert had to pack blue and red toy-kangaroos and place 10 in each box. If he had 178 toys of
one colour and 121 of another colour, how many boxes would he need in order not to mix the
different colours?

(A) 13 (B) 18 (C) 24 (D) 30 (E) 31

2. OEpiKk €xeL 7 MEPLOCOTEPA AYOPLA CUMMOONTEG Ao OTL KOPIToL CUUUABONTPLEG.
ITnv Ta€n Tou umtdpyouv SVo PopEC TIEPLOCOTEPA ayopLa and Kopitola. MNooa
Kopitola cuppadnTpLeg €xel o0 EpLk;

Eric has got 7 more male classmates than female classmates. In his class thereare
twice as many boys than girls. How many female classmates does Eric have?

(A) 6 (B) 7 ()8 (D) 9 (E) 10

3. 1o Suthavo oxnua ¢aivovtal Kamolol SpOUOL OE La UIKPN TIOAN. A Q
OL anmootdoelg petal A kat P kot petal A kat Q eivat n kabe pia
500 m. H dtadpoun and P mpog Q péow A eivat 215 m peyaAltepn B
amno tn Stadpoun péow B. Moo peyalutepn amo tnv Stadpopr) HEow
B eivat n Stadpoun amno P npog Q péow C;. C
The figure beside shows a few streets in a little city. The distance
between A and P and between A and Q are each 500 m. The route
from P to Q via Ais 215 m longer than the route via B .

How much longer than the route via B is the route from P to Q via C?

(A) 275 m (B) 215 m (C) 430 m (D)Om (E) 43 m

4. EmiAéyovtal dUo aplBuotl and to cuvolo -9, -7, -5, 2, 4, 6 kal petd moAamnAactalovrod.

To eAdxLoto SuvaTtod AMOTEAECUA LOOUTAL PIE:

Two numbers from the set -9, -7, -5, 2, 4, 6 are chosen, then multiplied. Then the minimal possible
results equals to:

(A) -63 (B)-54 (C)-18 (D) -10 (E) 8
1 I ! 14 ’ I D C
5. To ABCD eival tetpaywvo. Bpeite to néyebog tn¢ ywviag COM, gav n
ywvia OND =60 °. “
ABCD is square. Find the size of the angle COM, if angle OND =60°. 0 M
N
(A) 10° (B) 15° (C) 20° (D) 30° (E) 35° A B
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6. Eva pikpo kodAa tpwel Ta GUAAa amod éva §évtpo seukaAumtou o 10 wpeg.
O mMatépag KaL N UNTEPA TOoU TPWVE SU0 POPEC TIO YPryopa. I€ TTOCEC WPEC
umopetl OAOkANpPN N TPLUEARG OKOoYyEVELD VO dAEL OAa Tat GUANa a6 €va §Evtpo
EUKAAUTITOU;

A small Koala eats the leaves from one eucalyptus tree in 10 hours. His father
and his mother eat twice as fast. In how many hours do the whole three-
member family can eat all the leaves from one eucalyptus tree?

(A) 2 (B)3 (C) 4 (D) 5 (E)6

7. To UAKOG TNG MAEUPAG €VOG TETPAYWVOU ToU TomoBeteital oe éva enimedo eivat 1 cm. Kabe
Kopudr auToU TOU TETPAYWVOU £(VaL TO KEVTPO eVOG KUKAOU pe aktiva 1 cm tomoBetnuévo oto (6o
emninedo. Molo T0 cUVOAO TwV CNUELWV TOUNG TIOU TIPOKUTITOUV amd TNV TOMN TouAdxloto dUo
KUKAWV;

The length of the side of a square placed on a plane is 1 cm. Every vertex of this square is the centre
of a circle with radius 1 cm placed on the same plane. What is the total number of intersect points
made between at least two circles?

(A) 6 (B) 8 (C) 10 (D) 12 (E) 14

8. Eva Pndlakd polol deixvel wpeg (2 Yndia, 24wpo poAot) kat Aemtta (2 Yndia). Nooeg dopég
HETAEL evOg AemToU PETA Ta peoavuyta (00:01) kot evog Aemtol mplv amo ta pecavuyta (23:59)
gudaviletal to poAoL tnv dla wpa otav Stafaletal mpog Ta eUnpPog(aplotepd mpog e€Ld) N mPog
To Ttiow( 6€€Ld mpoc aplotepd); (€va TETolo mapadetlypa eivat n wpa 15:51)

A digital clock shows hours (2 digits, 24 hour clock) and minutes (2 digits). How many times
between one minute after midnight (00:01) and one minute before midnight (23:59) does the clock
show the same time when it is read forward(left to right) or backwards(right to left)? (such example
is at 15:51)

(A) 10 (B) 13 (C) 15 (D) 18 (E) 24

9. 3to Slaypappa, to Tpiywvo PQR eival toomAeupo, o SR Sixotopel tnv ZPRQ kat to T eival éva
onueio oto RS €toL wote £TQR: £TQS = 2: 1. Nooeg poipeg eivai n £STQ;
In the diagram, triangle PQR is equilateral, SR bisects ZPRQ, and T is a point on RS such that
ZTQR : £TQS =2 :1. What is the measure of £5TQ?

B

0 'Rr

(A)40° (B)50° (€C)60°  (D)70° (E)80°



. . KANGOUROU MATHEMATICS COMPETITION 2020 - PART B
Thales Foundation LEVEL 7-8

10. O Takng kat n TaooUAa kamote €kavav pla plavBpwrikr opydvwon Mapabwviou o otifo.
KaBe évag €tpete pe otabepr) tayvtnta: O Takng dtavuel 5 yupoug og 12 Aemttd. H TacoUAa Stavuel
3 yUpoug og 10 Aemta. Av Eekivnoav pali, molog ATav 0 GUVOALKOC aplBuog Twy yupwv Tou ixav
TPEEEL wote va cuvavtnBouv Eava pall otn ypaupn ekkivnong;

Tweedledum and Tweedledee once did a charity Marathon around a track. Each ran at a constant
speed: Tweedledum runs 5 laps in 12 minutes; Tweedledee runs 3 laps in 10 minutes. If they started
together, what was the combined number of laps they had run when they next crossed the start
line together?

(A) 3 (B) 43 (C) 86 (D) 90 (E) 135

11. Kavovtag técoepelg euBeieg KOMECG Ao AKpn O AKpn O €va eMINeSO oTPoyyuUAOd YAUKLOMO HE
€va payxaipt, o mOoA KOUUATLO SEV UMOPEL vl KOTIEL;

What number of pieces cannot be obtained by making four straight side-to-side cuts on a flat round
cake with a knife?

(A) 5 (B) 7 (C) 9 (D) 11 (E) 12

12. 3& évav SLaywviopo AAPOTOC KAYKOUPO, KABE aywVI{OUEVOC KAVEL TTEVTE GAMATA. 2€ KAOE GApA
Sivetal éva okop petaly 1 kat 20. QoTo00, To AAUA LE TO XapnAOTEPO okop (1 éva amod ta AApata
HE To (610 XYaunAOTEPO OKOP €AV UTIAPXOUV TIEPLOCOTEPA OO £VOl AAMATA UE AUTO TO oKop) dev
HETPA OTO TEALKO cUvoAo. Mpv amoppldpBel To XaAUNAOTEPO OKOP, TA TEVTE AAMATA TNG lwavvacg
€xouv aBpotlopa 72. Mota ivat n xapnAotepn Suvath TLUA TOU TEALKOU OKOp;

In a kangaroo jumping competition, each competitor makes five jumps. Each jump is given a score
between 1 and 20. However, the jump with the lowest score (or one of the jumps with equal lowest
score if there is more than one jump with that score) is not counted in the final total. Before
the lowest score is discarded, Joey's five jumps add up to 72. What is the lowest possible value of
her final score?

(A) 52 (B) 54 (C) 57 (D) 58 (E) 72

13. H Maipn édtiage Eva duAlakto amo entd {dpLa, Ta onoia cuyYKoAARBnkav pall pe
TETOLO TPOTO, WOTE KABE (euydpL KOANUEVWY 5pwV ixe (00 aplBUO KOUKKIOWV MAvw
Touc. Otav £natlle PE TO APLOTOUPYNUA, TO AdNOE Vo TTECEL O KASO PE AEUKN UTTOYLA.
Q¢ amotéAecpa autoU, ol Koukkibeg eadaviotnkav. MOoeC KOUKKIOEC umrpxav
apXIKA o€ 0AGKANPN TNV emidAveLla Tou pUAAKTOU;

Meggy made a talisman from seven dice, which she glued together in such a way, that
every pair of glued faces had equal number of bullets on them. When playing with
the masterpiece she let it fall into a bin with white paint. As a result of that the points
disappeared. How many points were there originally on the entire surface of the
talisman?

(A)95  (B)102  (C) 105 (D)112  (E) 126

5
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14. Mepika amo 11 KouTld TEPLEXOUV 8 UIKPOTEPA KOUTLA TO KaBEva, UEPLKA oo Ta UIKPOTEPQ
KOUTLA TIEPLEXOUV ETIONG 8 ULKPOTEPA KOUTLA TO KaBéva. Edv Ta keva kouTld ival 102 mooa eivatl
OAQL TOL KOUTLQ;

Some of 11 boxes contain 8 smaller boxes each, some of the smaller boxes contain also 8
smaller boxes each. If the empty boxes are 102 how many are all the boxes?

(A) 64 (B) 102 (C) 118 (D) 115 (E) 122

15. Muwa pnaAa modoodaipou sival pappévn amo acmpopaupa Sepudtiva -
KOMMATLOL Tt LaUpal KORMATLAL EIVOLL KOVOVIKA TIEVTAYWVA KoL ToL AEUKA lval
Kavovika e€aywva. Kabe meviaywvo meplBaAletal and névie e€dywva Kot . ‘

N
[

KaBe e€aywvo mepPAretal amno Tpia mevidywva Kol tpia e€aywva. H pnaia
€xel Swbdeka pavpa mevtaywva. Mooa Asukd e€aywva €xeL;

A football is sewn out of black and white leather pieces. The black pieces
are regular pentagons, and the white ones are regular hexagons. Each
pentagon is bordered by five hexagons, and each hexagon is bordered by
three pentagons and three hexagons. The ball has twelve black
pentagons. How many white hexagons does it have?

(A) 60 (B) 30 (C) 20 (D) 15 (E) 10

16. Ta a kat b eivat Suo Pndia. To ywopevo toug ab x ba gival évag aplOuog tecodpwv Pndiwv.
AnyeLoto 3, étotab xba=__ 3. Mowo eivat to mpwto Pndio Tou ywvouévou;

aand b are two digits. Their product abxbais anumber of four digits. It ends on 3,

soabxba=__ 3. Whatis the first digit of the product?

(A)1 (B)3 (C)5 (D)7 (E)9

17. Eva opxLTEKTOVIKO oOxEOL0 Olapepiopatog €xel dtapopdwbel oe kAipaka 1:50 kot €xel
opBoywvio oxAua pe Stactdoelg 20 cm x 30 cm. Moto eival to eufado tou Slapepiopatog;

An architectural plan of an apartment is made in scale 1:50 and has a rectangular shape with
dimensions 20 cm x30 cm. What is the area of the apartment?

(A)12 m2  (B)150m?  (C)300m2?  (D)450m?  (E) 600 m2

18. H nepipetpog twv tprywvwv ADF , DBE, DEF kat FEC eivat 12, 24, 19 kal 24 , 6nwg daiveral.
Mola eival n mepipeTpog Tou TpLywvou ABC;

The perimeters of the triangles ADF, DBE, DEF and FEC are 12, 24, 19 and 24, as shown. What is the
perimete; of the triangle ABC?

VAN

" 2 (A) 38 (B) 41 (C) 43 (D) 47 (E)49
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19. NMéoot dwpn ot Luyol apBuol £xouv Vv 6LOTNTA OTL TO ABpolopa Twv Suo Pndiwv Toug eivat
emiong évag Luyog aplbuog;

How many two-digit even numbers have the property that the sum of their two digits is also an even
number?

(A) 50 (B) 25 (C)40 (D)20 (E) 16

20. Npoodlopiote to abBpolopa Twv Pndlwv Tou pKkpoTtEPOU duvatol aplBpoU LE TO YLVOLEVO TWV
Pnoiwv tou va LoovTal pe 24.
Determine the sum of the digits of the smallest possible number with 24 as the product of its digits.

(A) 6 (B) 8 (C)9 (D) 10 (E) 11
21. 1o LoomAeupo tplywvo ABC yvwpiloupe otL AE = BD = AB / 3. MNoto ival To PETPO TNG ywviag

DFC;
In equilateral triangle ABC we know that AE = BD = AB/3. What is the measure of angle DFC?

(A) 10° (B) 20° (C)30° (D) 45° (E) 60°



